In the space provided below, use the information you recorded from the front to write a paragraph explaining the 3 solution types we have been learning about. Your paragraph should include the following words and contain at least 6 sentences. 

	Isotonic
	Hypertonic
	Hypotonic
	Swell
	Higher (More)

	Egg
	Remain the same
	Was at equilibrium
	Shrink
	Lower (Less)

	Syrup
	Water


The first solution was made up of_______________as the solute and________________as the solvent. The solute concentration ___________________________ causing the egg to ____________________________. This solution is considered ________________.

The second solution was made up of_______________only. The solute concentration was ________________ inside the egg and _______________ outside of the egg, causing the egg to _________. 
This solution is considered ________________.  

The third solution was made up of_______________ only. The solute concentration was _______________ inside the egg and _______________ outside of the egg, causing the egg to _____________________. 
This solution is considered ________________.

Name: __________________________





Period_______
Doc# _18____

Level Egg Osmosis 

Instructions: As you view the results of the 3 eggs being placed into 3 different solutions, draw the results in the beakers below. Then in the space provided, explain the results you saw. 
3. HYPERTONIC





2. HYPOTONIC





1. ISOTONIC








